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JIE 152 =1 ouT IN IS VAN
1 INSERH 76 42 34 15
2 BHEZ 78 42 36 14

KT 78 41 37 14
4 FES 79 39 40 12
BHRN=FX 79 37 42 12
6 HHEREA 80 41 39 10
TTARE 80 40 40 10
2 NS 80 37 43 10
9 REHZ 81 43 38 7
F—x 81 42 39 7
11 ERE= 84 45 39 5
REFE A 84 41 43 5
BH 1B 84 40 44 5
14 INKER 85 45 40 2
15 HLEiE 86 42 44 1
EHHERTA 86 42 44 1
17 EHE— 87 44 43
18 FH £k 50 45 88 46 42
&R 88 43 45
20 5k =1 BH 89 45 44
21 AKRREE 920 45 45
22 X %788 91 47 44
ISE 91 43 48
24 EERHNT 93 46 47
aRE= 93 41 52
26 1k R 15 95 49 46
27 FILEH 98 45 53
28 BEIE=E— 113 61 52
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